CROCHET FOR YOURSELF - SCARF

MEASUREMENTS
Approx 12 x 50 ins [30.5 x 127 cm].

MATERIALS
Patons® Lace (85 g/3 oz; 455 m/498 yds)
33008 (Vintage) 3 balls

Size 3.5 mm (U.S. E or 4) crochet hook or size needed to
obtain tension.

TENSION: 19 sc and 25 rows = 4 ins [10 cm].

INSTRUCTIONS

Ch 131.

1st row: (RS). 1 sc in 2nd ch from hook. 1 sc in each ch to
end of chain. Turn. 130 sc.

2nd row: Ch 1. 1 sc in each sc to end of row. Turn.
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3rd row: Ch 1. 1 scin first sc. *Ch 5. Miss next 2 sc. 1 sc in
next sc. Rep from * to end of row. Turn. 43 ch-5 sps.

4th row: Sl st in first ch-5 sp. [Ch 2. 1 dc - counts as beg
dc2tog. *Ch 2. (Yoh and draw up a loop. Yoh and draw
through 2 loops on hook) twice. Yoh and draw through all
3 loops on hook — dc2tog made. Rep from * once more] all in
same sp as sl st. **Ch 2. (1 sc in next ch-5 sp. Ch 5) 4 times.
1 sc in next ch-5 sp. Ch 2. [[Dc2tog. Ch 2) twice. Dc2tog] all
in next ch-5 sp. Rep from ** to end of row. Turn.

5th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog) all
in same sp as sl st. (Ch 2. Dc2tog) twice in next ch-2 sp. *Miss
next ch-2 sp and sc. Ch 2. (1 sc in next ch-5 sp. Ch 5) 3 times.
1 sc in next ch-5 sp. Miss next sc and ch-2 sp. [(Ch 2. Dc2tog)
twice in next ch-2 sp] twice. Rep from * to end of row. Turn.
6th row: Sl st in first ch-2 sp. [Beg dc2tog. (Ch 2. Dc2toq)
twice] all in same sp as sl st. Ch 2. Miss next ch-2 sp. (Dc2tog.
Ch 2) 3 times in next ch-2 sp. *(1 sc in next ch-5 sp. Ch 5)
twice. 1 sc in next ch-5 sp. Miss next ch-2 sp. (Ch 2. Dc2tog)
3 times in next ch- 2 sp. Miss next ch-2 sp. (Ch 2. Dc2tog)
3 times in last ch-2 sp. Ch 2. Rep from * to end of row,
omitting last ch 2 at end of last rep. Turn.

7th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog) all
in same sp as sl st. (Ch 2. Dc2tog) twice in next ch-2 sp.
Ch 2. Miss next ch-2 sp. [(Dc2tog. Ch 2) twice in next
ch-2 sp] twice. *1 sc in next ch-5 sp. Ch 5. 1 sc in next
ch-5 sp. Miss next ch-2 sp. [(Ch 2. Dc2tog) twice in next
ch-2 sp] twice. Miss next ch-2 sp. [(Ch 2. Dc2tog) twice in next
ch-2 sp] twice. Ch 2. Rep from * to end of row, omitting last
ch 2 at end of last rep. Turn.

8th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog) all
in same sp as sl st. *Ch 3. Miss next ch-2 sp. (Dc2tog. Ch 2)
twice in next ch-2 sp. Miss next ch-2 sp. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp. Ch 3. Miss next ch-2 sp. (Dc2tog.
Ch 2. Dc2tog) in next ch-2 sp.** Ch 4. 1 sc in next ch-5 sp.
Ch 4. Miss next ch-2 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.
Rep from * to end of row, ending last rep at **. Turn.

9th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog) all
in same sp as sl st. *Ch 4. Miss next ch-3 sp. (Dc2tog. Ch 2)
twice in next ch-2 sp. Miss next ch-2 sp. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp. Ch 4. Miss next ch-3 sp. (Dc2tog.
Ch 2. Dc2tog) in next ch-2 sp.** Ch 7. Miss next 2 ch-4 sps.
(Dc2tog. Ch 2. Dc2tog) in next ch- 2 sp. Rep from * to end of
row, ending last rep at **. Turn.

10th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 6. Miss next ch-4 sp. (Dc2tog.
Ch 2) twice in next ch-2 sp. Miss next ch-2 sp. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp. Ch 6. Miss next ch-4 sp. (Dc2tog.
Ch 2. Dc2tog) in next ch-2 sp.** Ch 5. Miss next ch-7 sp.
(Dc2tog. Ch 2. Dc2tog) in next ch- 2 sp. Rep from * to end of
row, ending last rep at **. Turn.
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11th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 3. (1 dc. Ch 3. 1 dc) in next
ch-6 sp. Ch 3. (Dc2tog. Ch 2) twice in next ch-2 sp. Miss next
ch-2 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Ch 3. (1 dc.
Ch 3. 1 dc) in next ch-6 sp. Ch 3. (Dc2tog. Ch 2. Dc2tog) in
next ch 2 sp.** Ch 5. Miss next ch-5 sp. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp. Rep from * to end of row, ending last
rep at **. Turn.

12th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 2. Miss next ch-3 sp. 7 dc in next
ch-3 sp. Ch 2. Miss next ch-3 sp. (Dc2tog. Ch 2) twice in next
ch-2 sp. Miss next ch-2 sp. (Dc2tog. Ch 2) twice in next
ch-2 sp. Miss next ch-3 sp. 7 dc in next ch-3 sp. Ch 2. Miss
next ch-3 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.** Ch 4.
Miss next ch-5 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.
Rep from * to end of row, ending last rep at **. Turn.

13th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 2. Miss next ch-2 sp. (1 dc in next
dc. Ch 1) 6 times. 1 dc in next dc. Ch 2. Miss next ch-2 sp.
(Dc2tog. Ch 2) twice in next ch-2 sp. Miss next ch-2 sp.
(Dc2tog. Ch 2) twice in next ch-2 sp. Miss next ch-2 sp. (1 dc
in next dc. Ch 1) 6 times. 1 dc in next dc. Miss next ch-2 sp.
(Ch 2. Dc2tog) twice in next ch-2 sp.*™ Ch 2. Miss next
ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep from *
to end of row, ending last rep at **. Turn.

14th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 3. Miss next ch-2 sp and dc. (1 sc
in next ch-1 sp. Ch 3) 5 times. 1 sc in next ch-1 sp. Ch 3.
Miss next dc and ch-2 sp. (Dc2tog. Ch 2) twice in next
ch-2 sp. Miss next ch-2 sp. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp. Ch 3. Miss next ch-2 sp and dc. (1 sc in next ch-1 sp.
Ch 3) 5 times. 1 sc in next ch-1 sp. Ch 3. Miss next dc and
ch-2 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.** Ch 2. Miss
next ch-2 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep
from * to end of row, ending last rep at **. Turn.

15th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 4. Miss next ch-3 sp and sc. (1 sc
in next ch-3 sp. Ch 3) 4 times. 1 sc in next ch-3 sp. Ch 4.
Miss next sc and ch-3 sp. (Dc2tog. Ch 2) twice in next ch-2 sp.
Miss next ch-2 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.
Ch 4. Miss next ch-3 sp and sc. (1 sc in next ch-3 sp. Ch 3)
4 times. 1 sc in next ch-3 sp. Ch 4. Miss next sc and ch-3 sp.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.** Ch 2. Miss next
ch-2 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep from *
to end of row, ending last rep at **. Turn.

16th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 4. Miss next ch-4 sp and sc. (1 sc
in next ch-3 sp. Ch 3) 3 times. 1 sc in next ch-3 sp. Ch 4.
Miss next sc and ch-4 sp. (Dc2tog. Ch 2) 3 times in next ch-2 sp.
Miss next ch-2 sp. [(Dc2tog. Ch 2) twice. Dc2tog] in next
ch-2 sp. Ch 4. Miss next ch-4 sp and sc. (1 sc in next ch-3 sp.
Ch 3) 3 times. 1 sc in next ch-3 sp. Ch 4. Miss next sc and
ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.™ Ch 2. Miss
next ch-2 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep
from * to end of row, ending last rep at **. Turn.

17th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 4. Miss next ch-4 sp and sc. (1 sc
in next ch-3 sp. Ch 3) twice. 1 sc in next ch-3 sp. Ch 4. Miss
next sc and ch-4 sp. (Dc2tog. Ch 2) twice in next ch-2 sp.
Dc2tog in next ch-2 sp. Ch 2. Miss next ch-2 sp. Dc2tog in
next ch-2 sp. (Ch 2. Dc2tog) in next ch-2 sp. Ch 4. Miss next
ch-4 sp and sc. (1 sc in next ch-3 sp. Ch 3) twice. 1 sc in next
ch-3 sp. Ch 4. Miss next sc and ch-4 sp. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp.™ Ch 3. Miss next ch-2 sp. (Dc2tog.
Ch 2. Dc2tog) in next ch-2 sp. Rep from * to end of row,
ending last rep at **. Turn.

18th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 4. Miss next ch-4 sp and sc. 1 sc in
next ch-3 sp. Ch 3. 1 sc in next ch-3 sp. Ch 4. Miss next sc
and ch-4 sp. [(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Ch 3.
Miss next ch-2 sp] twice. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp. Ch 4. Miss next ch-4 sp and sc. 1 sc in next ch-3 sp.
Ch 3. 1 sc in next ch-3 sp. Ch 4. Miss next sc and ch-4 sp.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.** Ch 4. 1 hdc in next
ch-3 sp. Ch 4. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep
from * to end of row, ending last rep at **. Turn.

19th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. “Ch 4. Miss next ch-4 sp and sc. 1 sc in
next ch-3 sp. Ch 4. Miss next sc and ch-4 sp. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp. [Ch 4. Miss next ch-3 sp. (Dc2tog.
Ch 2. Dc2tog) in next ch-2 sp] twice. Ch 4. Miss next ch-4 sp
and sc. 1 sc in next ch-3 sp. Ch 4. Miss next sc and ch-4 sp.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.** (Ch 4. 1 hdc in next
ch-4 sp) twice. Ch 4. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.
Rep from * to end of row, ending last rep at **. Turn.

20th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. *Ch 1. Miss next (ch-4 sp, sc and
ch-4 sp). (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Ch 5. Miss
next ch-4 sp. (2 dc. Ch 3. 2 dc) in next ch-2 sp. Ch 5. Miss
next ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Ch 1.
Miss next (ch-4 sp, sc and ch-4 sp). (Dc2tog. Ch 2. Dc2tog) in
next ch-2 sp.** (Ch 4. 1 hdc in next ch-4 sp) 3 times. Ch 4.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep from * to end of
row, ending last rep at **. Turn.
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21st row: Sl st in first ch-2 sp. Beg dc2tog in same sp as
sl st. *Miss next ch-1 sp. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp. Ch 5. Miss next ch-5 sp. 1 dc in each of next 2 dc.
5 dc in next ch-2 sp. 1 dc in each of next 2 dc. Ch 5. Miss
next ch-5 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Miss
next ch-1 sp. Dc2tog in next ch-2 sp.”™ (Ch 4. 1 hdc in next
ch-4 sp) 4 times. Ch 4. Dc2tog in next ch-2 sp. Rep from * to
end of row, ending last rep at **. Turn.

22nd row: Sl st in next dc2tog and ch-2 sp. (Beg dc2tog.
Ch 2. Dc2tog) all in same sp as sl st. *Ch 5. Miss next ch-5 sp.
(1 dc in next dc. Ch 1) 8 times. 1 dc in next dc. Ch 5. Miss
next ch-5 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.**
(Ch 4. 1 hdc in next ch-4 sp) 5 times. Ch 4. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp. Rep from * to end of row, ending last
rep at **. Turn.

23rd row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2toq)
all in same sp as sl st. *Ch 4. Miss next ch-5 sp and dc. (1 sc
in next ch-1 sp. Ch 3) 7 times. 1 sc in next ch-1 sp. Ch 4.
Miss next sc and ch-5 sp. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp.** (Ch 4. 1 hdc in next ch-4 sp) 6 times. Ch 4.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep from * to end of
row, ending last rep at **. Turn.

24th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2toqg)
all in same sp as sl st. *Ch 4. Miss next ch-4 sp and sc. (1 sc
in next ch-3 sp. Ch 3) 6 times. 1 sc in next ch-3 sp. Ch 4.
Miss next sc and ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp.** (Ch 4. 1 hdc in next ch-4 sp) 7 times. Ch 4.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep from * to end of
row, ending last rep at **. Turn.

25th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. “Ch 4. Miss next ch-4 sp and sc. (1 sc
in next ch-3 sp. Ch 3) 5 times. 1 sc in next ch-3 sp. Ch 4.
Miss next sc and ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp.** (Ch 4. 1 hdc in next ch-4 sp) 8 times. Ch 4.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep from * to end of
row, ending last rep at **. Turn.

26th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2toqg)
all in same sp as sl st. *Ch 4. Miss next ch-4 sp and sc. (1 sc
in next ch-3 sp. Ch 3) 4 times. 1 sc in next ch-3 sp. Ch 4.
Miss next sc and ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp.* (Ch 4. 1 hdc in next ch-4 sp) 9 times. Ch 4.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep from * to end of
row, ending last rep at **. Turn.

27th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2toqg)
all in same sp as sl st. *Ch 4. Miss next ch-4 sp and sc. (1 sc
in next ch-3 sp. Ch 3) 3 times. 1 sc in next ch-3 sp. Ch 4.
Miss next sc and ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp.™ (Ch 4. 1 hdc in next ch-4 sp) 10 times. Ch 4.
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep from * to end of
row, ending last rep at **. Turn.

28th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. “Ch 4. Miss next ch-4 sp and sc. (1 sc
in next ch-3 sp. Ch 3) twice. 1 sc in next ch-3 sp. Ch 4. Miss
next sc and ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.**
(Ch 4. 1 hdc in next ch-4 sp) 11 times. Ch 4. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp. Rep from * to end of row, ending last
rep at **. Turn.

29th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2tog)
all in same sp as sl st. “*Ch 4. Miss next ch-4 sp and sc. 1 sc in
next ch-3 sp. Ch 3. 1 sc in next ch-3 sp. Ch 4. Miss next sc
and ch-4 sp. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.** (Ch 4.
1 hdc in next ch-4 sp) 12 times. Ch 4. (Dc2tog. Ch 2. Dc2tog)
in next ch-2 sp. Rep from * to end of row, ending last rep at
**, Turn.

30th row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2toqg)
all in same sp as sl st. *Ch 4. Miss next ch-4 sp and sc. 1 sc in
next ch-3 sp. Ch 4. Miss next sc and ch-4 sp. (Dc2tog. Ch 2.
Dc2tog) in next ch-2 sp.** (Ch 4. 1 hdc in next ch-4 sp)
13 times. Ch 4. (Dc2tog. Ch 2. Dc2tog) in next ch-2 sp. Rep
from * to end of row, ending last rep at **.

31st row: Sl st in first ch-2 sp. (Beg dc2tog. Ch 2. Dc2toq)
all in same sp as sl st. “Ch 1. Miss next (ch-4 sp, sc and ch-4 sp).
(Dc2tog. Ch 2. Dc2tog) in next ch-2 sp.** (Ch 4. 1 hdc in next
ch-4 sp) 14 times. Ch 4. (Dc2tog. Ch 2. Dc2tog) in next
ch-2 sp. Rep from * to end of row, ending last rep at **. Turn.
32nd row: Sl st in first ch-2 sp. Beg dc2tog in same sp as
sl st. *Miss next ch-1 sp. Dc2tog in next ch-2 sp.** (Ch 4.
1 hdc in next ch-4 sp) 15 times. Ch 4. Dc2tog in next
ch-2 sp. Rep from * to end of row, ending last rep at **. Fasten
off.
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